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EQUATION OF PARABOLA

Geven ; Focos § (3.32)

Dineliy ; 2x-Y+5
A 5 )r\-aﬁ'ua.la.e-g,a Ehis, s eqL M S
Pol szmlojfa, ’k.e«ijx.e,)vﬂm ond 7b9~ ;uw,wecm
AA ﬂ_ﬂmaﬂ
S5, | PE] = | P10
Leb sue Xoke ’QJ(‘MMC P(x?g)m the afﬁqmbdﬂa.

T,p\e,nﬁﬁa{")m
n/oc 3)+(% -2)* = | 2x-y+45 |

/274 (1)

L+ A= G 4 u,+‘l-_‘r7¢ = 2x-4+ 5

/5.

M%JMGLMMW ;

’ziert"—- 6x-—‘hu++ [3= (2x-y45)"~
(S )

Wt y* h-y+13 = 4xy*+25-Py - 104+ J0x.
L8 5 i<

5('x+u 6xf+u+|3) ‘bclJru *+ 25— ‘]')bu 10y T20x

5y 2+ 5y*-30x-20y +65 = 427+ u?+25 - 44xy—-10y+20x
( e ) /) U

x*4 "rb:l--Sox, —IOLér-I-_Ltwae,JrLrD =
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L(x) = men L =3
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MAXIMUM Are A OF TRIANGLE

Given:
pru:van)L P e 4@('_/1’“1
LEM?M Gérm /_'M.'AL——"' QCA—W

’
Ligure.;

/\
A
X

x°

L]
A
.

Le.i; one. Alde ob-dbhs 'kh;‘amﬁﬁa = Q€
Then secend u/nﬂuhgsww 1de becomes= 18-~

= IO—')L
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9(9-8)(9 -2 )(3-(10-x))
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2x%4 53 43 dx_

(2x=2)% (234 X+ 1)

Lpt‘212+57(_+3 - A + B +Cxs+D -@
(x=2)> (A4 A+ ) v, B S 2 5 el b, 9. i 5

M0 1 0 d E C 2:1::. ]J_

%% 5y 43= A (x=2)(otxa2)+ B (20 x44)+ Cxd (%-2) 25
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Couah (=4 x 44 ) e a
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R -2 - =2 Un ;
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g-a= L+8C 4D
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Qﬂzm: : B(4,5)

A ("'2_:) 3/) i (;(]'I:!EJ (YT\’,L/
B (445) (x,,u,) \
& (6; -7-) = (Xz,'j:,z L{__rfé ————-'——;‘\,

A(-2,3) m 5 i
Tp\e Mvup@a. JTG'OZ’JS/QM A alven by !
/ Cldpe. = Wputigy 20 ¥ i
' Xy=-Xa
Clowe sl AR = win= 58 . 3 =4
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I V o S
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¥ 6-(=) 3
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tan Bl 25
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3
U=3= 4 (x42)
U 3
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